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ANALYSIS PROBLEM # 4
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PROBLEM FOUR: The Driver And The Dead Man: Tony, was driving
under the influence of alcohol, lost control of his car and crashed directly
into another vehicle. The driver of the other vehicle was injured, treated,
and released from the hospital; however, his passenger was dead when
the paramedics arrived. Tony was eventually charged, arrested and
found guilty of reckless driving and driving while under the influence of
liquor. However, he was not charged with criminal homicide. Why?




